ANSWER KEYS of GDCE for Jr Clerk-cum-Typist, SER held on 05-March-2022

QNo

Question Text

Option No

Option Text -

In a certain code 'DEMONETIZATION' is written as 'AFJPKFQ) WBQILO'. How Is '
RENAISSANCE' code In that language?

uw fdw Fre ¥ 'DEMONETIZATION' Y ' AFIPKFQ) WBQULO' ForaT srraT 81 3t #re
#Y wrar # ' RENAISSANCE' %Y 43 frar mar &7

3

OFJBFTPBKDB

In a certain code ' ULTRACONSERVATIVE' Is written as 'FXLXFWTHWSPEDVYMW',
How Is 'LAMBDACISM' written in that code language?

U 39T Frw ¥ ULTRACONSERVATIVE' %Y ' FXLXFWTHWSPEDVYMW fraT srmaT &)
I Frw Y AT # 'LAMBDACISM' FY A fRra STaT 7

NULGFEDPEQ

Choose a group of alphabets which is related in the same way to a third group
provided in the question: QIOK: MMKO :; YAWC : ?

FoiwTar & uF aqg F 17, Y wr ¥ w7 At a9y & quE w9 & qe=@fq i
QIOK:MMKO:.YAWC:?

UESG

Choose a group of alphabets which is related in the same way to a third group
provided in the question: GOAL:HPBK :: POST : ?

AuiTAT & UF FYE Y AT, I w1 F wEw At aqg & g6 w0 F gt @y
GOAL:HPBK :: POST : ?

QPTs

in a queue 'A' is 33rd from the back while 'B' is 20th from the front and 'C' Is midway
between the two. If there are 13 persons ahead of 'C', what position does 'C' occupy
from the back?

TH AR A A A A 33 F A 9 & T F A & B 20 ¥ T X qwT Y F A=
¢ R ATC AR c MR IR

27th
J27 st

What will be the first letter of the word made of the third to sixth letters of the
word CONTEXTUALIZE? If no such word can be made, give M as your answer. If
more than one word can be made, give P as your answer:

7197 CONTEXTUALIZE % #Tat & B2 14T % T 216 T UgAT &< 7T g7 AT
IS R g AR g AT ME IR T afdF rm s drswer %
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7 In a certain code '347' means ‘apple tastes sweet'; '468' means 'rose is sweet' and 7
'539' means 'apple looks red'. What is the code for 'tastes'?
TS @1 T '347' F7 34 A F7 @18 HoT §, '468' FT 30 e e ' 3w ‘539!
1 7Y a1 REar § | fe r wmw @ o ya armr gy

8 What number would come in place of the question mark (?) in the following number 155
series? 3,14,39,84,7
= R 71w s & Sifie § v Reg & ©me 9x Ay ofF 7 AE? 3, 14, 39, 84, ?

9 Gold is to Goldsmith as is to Blacksmith: Iron
o yw AT F g g g St v F forw g AL

10 | Shoe is related to Leather in the same way as Shirt is related to___ Cloth
S sy SpET wwET & dafia § 9ot e wihe ¥ gafda &. / FIET

11 Directions: Find out the word which does not belong to the group- ABDE
AEer: 39 =% 7 997 FL AT TG ¥ @Y ALY T@AT ©-

12 Directions: Find out the word which does not belong to the group- v
e 39 9% T A9 FL S g Y HIY Tl L@l B-

13 | Choose the correct alternative from the following: 0,7,26,65,124,215,?' 342
FAafafaa & & 9t e #1 94: 0,7,26,65,124,215,"

14 | Three of the following four groups of letters are alike in some way while one is KNQ
diffferent.Find out which one is different:
R T TR et F qug & N O A9 §, STEF T I AT g1 A qa9 qq g,
ELlGH

15 Find the fourth word from the given options having the same relationship with the Submarine
third word - Floating : Underwater :: Boat : ? / Tt
T ars2 F T qTT gIEy 7@ AT R e Rt F & = o=t 719 w1 -
QAT : v AT ?

16 Find the fourth word from the given options having the same relationship with the Kathak
third word - Bismillah Khan : Shehnai :: Birju Maharaj :? | ¥q%

e 752 & T FHIT TR T AT (27 T et § & = ek AT -
faafeg ar : agars ;- g HgrasT : ?
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17

Find the fourth word from the given options having the same relationship with the
third word - Wax : Candle :: ?: Paper

TR o2 F WY §ET gy TN A Ru v fAwedt § ¥ <y s A - 9
: AR 2 F

Pulp / Tﬂﬂ'

18

If SUNDAY is written in a certain code as LSQWYB, how is DOLLAR written in that
code?

Tf SUNDAY T #1T F Lsqwys foraT stTaT &, aF S8t A= 3 poLLAR Fr 39 frar
AT §?

JMBPY)

19

If free is called nice, nice is called war, war is called care and care is called beautiful,
fill in the following sentence: She took alot of ____ to make herself presentable.
Tf2 free FT nice gl 91T, nice T war Figl AT, war #T care gl AT T care T
beautiful FgT 9T & fAwfofRe aTr A @ FE  Shetookalotof ____ to make

herself presentable.

Beautiful

If it is possible to make a meaningful word with the 3rd, 5th, 6th and 9th letters of
the word SIMILARITY, which of the following will be second letter of that word? If
more than one such word can be made, give 'X' as the answer. If no such word can
be made, give 'M' as the answer:

T R 7Y o7 SIMILARITY & i, Ti=d, &3 ol A1 anrdY iy et 1€ 72
Aot 9T FAT § Y IHFT THIT ST B T ERIT? TH F JA 912 a7+ A7 Ry
¥ 3¢ x ¥ aur Y arsx & 7T S99 9 39 MY 99T

21

If report is called survey, Survey is called project, project is called plant, plant is
called top, top is called sky and sky is called moon, which of the following is the toy
that spins?

7f R 1 73 Fgr 1A &, /S F TN FgT ATGT 8, WrTE Y WS FgT AT 8,
SHTE F TTT FFT AT &, ZTT FT FHT3 FT ATAT § A 7S FY 97 Fgr Aar g
Frarffr i a Reftar i #2ar &2

Sky
VA, 011

In the following questions, one term in the number series is wrong. Find out the
wrong term: 121,143,165,186,209

Frafafam it §, @1 Aoft § vs 98 797 8, THT 9% #7991 7
121,143,165,186,209

186

23

Which of the letter or group of letters will continue the given series?
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AZ, BY, CX, DW, _
FYF AT T T FA F7 AE T T g F7 qu T F? AZ, BY, CX, DW, _

24 How many pairs of letters are there in the word INFORMATION which have as many Three
letters between them as in the alphabet? . &=
£ 7T 752 INFORMATION 3 37T & fraray sive &, R 3y ot & o9&
v 7% e dR 2
25 | Find out the wrong term in the given series: 11,12,22,122,1123 1123
Ruwe doft ¥ ¥ ma R AN 11,12,22,122,1123
26 Select the related letters from the given alternatives: MNOPQ
AB, DEF, HUK, ?, STUVWX
o T FRrredt # & awE e sy 99
AB, DEF, HIJK, ?, STUVWX
27 | Find out the missing number: 4,10, 23, 50, ? 105
| HEET FT 947 TC;  4,10,23,50,?
28 | Three of the following four are alike in a certain way and hence form group. Which KVR
is the one that does not belong to that group?
s = & & f7 g & o oF g a9 2 Y gEY F &, IH qA?
29 | DamistoMad as Drabis to Bard
g IF1T Dam & BT Mad T3t wwRDrab®feg_______
30 Choose the missing terms from the given alternatives: cc - daccc--a cced
fre U fFeat & g7 981 B I cc - dacee - - a
3 Which Guru created the 'Khalsa' Panth? Guru Gobind Singh
e T X e o it e S / TE R i
32 Who among the following was responsible for the foundation of the Muslim League Salimullah
in 19062 | TASeTg
feffm i ase 1906%@&##%%%%@@&137
33 | planning Commission was constituted in: March 1950
FreTAT AT FY FegTihd HaT T A / W 1950
34 Who was the first Governor-General of free India? Lord Mountbatten
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AT AT F g TS B A7 | € AT
35 | Where did the traveller Ibn Batuta come from? Morocco
arft 5@ aqaT FEt & AT AN / W
36 | The Battle of Plassey was fought in 1757
ot 6 rET # ot g
37 | Mahatma Gandhi started his first satyagraha on the Indian soil in 1917 at Champaran
mnﬁ%mwnﬁmﬁqﬁwmwm__ﬁaﬁmm /T
38 Who among the following was associated with the Permanent Settlement of Lord Cornwallis
Bengal? J aTE FrAETRE
Frafafa & & # S § qeaTe deie ¥ gafd €
39 National Flag was designed by ; Pingali Venkayya
THT AW i T F g A A T, | Tt daear
40 'Do or Die' is the famous slogan given by Mahatma Gandhi
3y T A/ ' wiRE AR F gra R av / T ATt
41 The movement in India which became popular during the First World War was the Home Rule Movement
o v g & AT ST FT ARG A=A o7 B HRwA
42 | The minimum age required for becoming a Lok Sabha MP is 25 years
mwmmaﬂ%%mw%mm_@mmawg: /25a%
43 | The President of India is The head of the State
wrea & Tgufa grare / T B HRET
44 The first general elections were held in India in 1951-52
A AT A A ____ H g ¥
45 Fundamental Duties were incorporated in the Indian Constitution in 1976
e & F dfers wd= A # Sfter T
48 | Jawahar Tunnel is located in the state of 1&K
AT F g gar A Ram g | TR F FTeic
47 | ‘Jog, the highest waterfall in India, is located in the state of Karnataka
AT AR AT AT AATITS g ¥ R | FAEE
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48

The Atomic Energy Programmes in India were initiated by H. J. Bhabha
AT 3 T St FEEH ST STew fa: / T AT
49 Which of the following is incorrectly about the function of sleepers of railway Sleeper act as non-elastic medium
tracks? between rails and ballast.
Frarfraa # 2 T 3% & wfiae & w1 1 o el war i /i e A A Ffw T
Az wfS wreT $t 3 FW w4
g
50 is the heart of the computer and this is where all the computing is done: Central Processing Unit
FPOPZT FT ZT BYaT & qur g aet weor e o @ JE AR
51 Who was the first woman president of Congress? Mrs Annie Besant
Fiie $t o afger Ay F A J St i s
52 | The Onam festival is celebrated to honour: 3T T e FFATH { HATAT ST King Maha Bali
& / T wgr At
53 | ‘Ghoomar’ Folk Dance is associated with: THX S1% Tc7 Ha 0 8 Rajasthan / (o€ 99 &
54 Who wrote the famous song ‘Sare Jahan se Accha’ ? Mohammad Igbal
WW“H&W%W‘WW%@TWM? / AIEE AT AT
55 *Bandhani" a unique fabric craft belongs to: State of Gujrat
wartert e T, B oo § 5EfET 32 /T T q
56 Choose the correct full form for--- CRISIL: Credit Rating Information Services
CRISIL— 3 F&Y Tof &7 &7 94 FHifer: of India / ¥ T TRATH
afddw afw §fRar
57 Choose the correct full form for--- IMEL: International Mabile Equipment
IMEI— % fore a2y qof &7 1 =77 fiford: Identity / ST HATET
otz argdedt
58 | Whatis the full form of NATO? North Atlantic Treaty
A FTEI B F AT Organisation / Tt srzerifewr £t
AT
59 NREGP is the abbreviated form of: National Rural Educational

m@ﬁﬁﬁ%a@wwmmﬁﬁ'&:

Guarantee Programme / AT
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T TR ATEET ST

60 | UPIstands for: Unified Payment Interface /
UP 1 ot gt e texhw
61 According to the recent Swachh Bharat Survey which city has been ranked as the Indore
cleanest city? A Lus
gmﬁ%mmﬁw%mﬁmmﬁnﬂwammmfﬁmw
?
62 | Which of the following was said to be the epicentre of the corona-virus outbreak? Wuhan Wet Market
Frer & & R 0T AT S T R AT T &7 / TE 4 rhe
63 | First Indian Women to scale Mt Everest: Bachendri Pal
HTIT TAET FT FAG FIA ATHAT Tgelt WIeerT wigem: / & aT
64 Which of the following players won a silver medal at the London Olympics in 2012? Sushil Kumar
Fraferfae & & fre REmft § 20 03 & siw AERF ¥ wra vaw shtar ure / e g
65 Which of the following is the highest sporting honour of India? Major Dhyan Chand Khel Ratna
faRRE iy s e iy Iaa=mm & Award / R STFEE A9 &
&
66 ‘Agha Khan Cup’ is related to which sport? Hockey
‘AT G F R /e & g9fia g / ey
67 Bal Gangadhar Tilak, was the founder editor of newspaper named ....... Kesari
TS T A ... ATH B FATAI IF ¥ HEYTIF GIT5F o, A 2k
68 | The Forward Bloc, a political party, was formed by: None of the above
T AN ............. T TS TF ToTaF Tt o, / T & ok Y
69 Blood is purified by: Kidneys
TF ... ® T 4 AT amar 8. /&
70 The Goods and Services Tax Act came into effect in: 2017
g AT A yRfaw el dam g
71 | The sum of first five prime numbers is: 28
Taw gl SAHTY §EAT FT TRTHRA ¢
72 What least number must be added to 1056 to get a number exactly divisible by 23? 2
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T T F A FH G=AT 1056 F SIS AT AT 23 F qof w7 & s g

73 The ratio of present ages of two brothers is 1:2 and 5 years back the ratio was 1:3. 3:5
What will be the ratio of their ages after 5 years?.
Y ATEAT T AT ATY FT AT 1:2 § A 7T I U5 1:3 ST A 5 a9 F AT
IAF IYT FHT JITT FT GATT?
74 The average of first 9 multiples of 3 is: 15
3 & TW 9 UTF F i
75 | The average age of 24 boys and their teacher is 15 years. When the teacher age is 39 years
excluded, the average age decreases by 1 year.The age of the teacher is: /39°¢
24 FEFT ST IR FArers v sfwa g 15 99 {1 99 P i ey P & ardt g,
3y s arg F 1 ¥ i Fft s ATt &) P Ay
76 | 54.327 x357.2 x0.0057 is the same as: 5.4327 x3.572x5.7
54.327 x 357.2 X 0.0057 THT &:
7 If 16a + 16b = 48, what is the average of a and b? 1.5
7f¥ 16a + 16b = 48 T a 3T b F7 shaa FTF?
78 | 3.75+2.832-1.001+1.803=? 7384
79 | Which number is 60% less than 80? 32
F17 H dear 80 ¥ 60% FH §7
80 1250 oranges were distributed among a group of girls of a class. Each girl got twice 25
as many oranges as the number of girls in that group. The number of girls in the
group was:
1250 A F¥ TF I & TEAT F TF G F 7 e 79T T4 A=HAT 9 AR
F =fadt it wEar & I A Ty $ a7 ag F At f dea b
81 | 4500x ?=3375 3/a
82 | To complete a work, A takes 50% more time than B. If together they take 18 days to 30 days
complete the work, how much time shall B take to do it? /30f=
TF FTH F G FA 3 oG A, B 50% AT 7wT AT ) 7f% O T FTH FL A
18 Y F QT #< AT &1 8 T FA § fohaem wwg e
83 | (0.07 x 0.07 x 0.07 - 0.05 x 0.05 x 0.05)/(0.07 x 0.07 + 0.07 x 0.05 + 0.05 x 0.05) =? 0.02
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84 |31a+41/6+?+1/4=10 2 21/3

85 | A 270 m long train is running 25 kmph. How much time will it take to cross a man 1 36 sec
walking from the opposite direction at 2 kmph? /36 ¥d<
w70 MRl I s Fr i RN ama s F ) w2 BfrmafH=a=a
R RomaagaesH_ Faraamwft:

86 | A boat goes 24km downstream in 10 hours. It takes 2 hours more to cover the same 4 None of these
distance against the stream. What is the speed of the boat in still water? /Fﬁ'ﬂ‘ L0 Y Hﬁ
WAFIORIATER X U0 TR I wregIRrlaaaw g frag
FA #§ 2 w2 AfAF At {1 A aria 9= F 719 A TI19 R4 802

87 | Water tax is increased by 20% and its consumption is decreased by 20%. The 3 4% decrease
increase or decrease in the expenditure is ......... / 4%t =Y
T FH 20% FT q@ra<T i At & 3 7wfi @wa F 20% F w4 Fi At g, v
gua A gizarwdt ... 8.

88 | After measuring 120 metres of rope, it was discovered that the metre rod was 3 cm 3 123 m 60 cm
longer. The true length of the rope measured is: /1239, g0 T
TF T & 120 e 7197 F 12 77 9T 47 G fex g 3 .Y, saver adt ofh
v et Y wrdt T &

89 | After reducing the salary of a man by 50%, it is increased by 50%. The loss is: 3 25%

s A F A9 ¥ 50% FHT FA T8, 3/ 50% 7 Ay STar &) A gr

90 | Hari's income is 20% more than Madhu's income. Madhu's income is less than Hari's 2 16 2/3%
incomeby_____

R aragframdon Ty agHawgRframd_ F748

91 | 9548+ 7314 = 8362 +? 3 3500

92 | 397x397+103x103+2x397x103="? 2 250000

93 [83293-7946-150=7 2 75197

94 LC.M. of 22, 54, 108, 135, 168 is: 3 5940
22,54, 108, 135, 168 FT AYTH THTIAAF &

95 | The H.C.F of two numbers is 8. Which of the following numbers cannot be the L.C.M 4 60
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of these numbers?

3 HEUTS FT AW qHIESS 8 §, Fafofm deamit # ¥ #9 T siw 771 amy
THTYIAS A5l af a9l &

96 | Adoes 20% less work than B.If A can complete a piece of work in '7 1/2" hours,, 3 6 hours
then Bcandoitin: / 6HE
A, B 20% F FT 74T §1 TR A 7 1/2" 2 F FTH 3 T gH2 T LA T HFATE,
ABH T EFATS

97 | (35614 - 26889) / 25 =? 2 349

98 | 2567 /17x3=?+180 4 273

99 | If the numerator of a fraction is increased by 140% and the denominator is 4 None of these
increased by 150%, the resultant faction is '4/15". What is the original fraction? / E‘ﬂ'ﬂ'ﬁfﬂ'ﬂ
af¥ wa qurts & sier F 140% 3% T & AT § A F 150% F I F A ATt R
7 ofoorfY W "a/15° grav 1 A arafaE WnT 4w §2

100 | Two-thirds of 57 is how much more than one third of 90? 1 8

57 %7 2 fagrs 90 % ww g & sy fram afew 27
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